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QUESTION 1

Which of these is the correct code to create a Bitmap object using the file res/drawable/image.png? 

A. Bitmap img = BitmapFactory.decodeFile(R.drawable.image), 

B. Bitmap img = BitmapFactory.decodeResource(R.drawable.image); 

C. Bitmap img = new Bitmap(R.drawable.image); 

D. Bitmap img = (Bitmap)GraphicsFactory.decodeResouces(R.drawable.image); 

Correct Answer: B 

 

QUESTION 2

Which of these is not defined as a screen display state? 

A. Visible 

B. Foreground 

C. Background 

D. Non-visible 

Correct Answer: D 

 

QUESTION 3

Which ContentProvider does Android not provide as a standard? 

A. A telephone log 

B. A database 

C. A bookmark 

D. A contact list 

Correct Answer: B 

 

QUESTION 4

Which is the correct combination of (1 )~(3) to describe the Activity Lifecycle? 
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A. (l)Foreground (2)Background (3)Visible 

B. (l)Foreground (2)Visible (3)Background 

C. (1)Visible (2)Background (3)Foreground 

D. (1)Visible (2)Foreground (3)Background 

Correct Answer: A 

 

QUESTION 5

The following JNIProb.java has been compiled, and the javah command has been run to create the header file
JNIProb.h. Which is the correct code that goes into (1) of the C/C++ source file JNIProb.c created in this way? 
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A. int JNICALL Java_JNIProb_add(JNIEnv*env, jobject o, inta, intb) 

B. jint JNICALL Java_JNIProb_add(JNIEnv*env, jobject o, jint a, jint b) 

C. jint JNICALL add(JNIEnv *env. jobject o. int a. int b) 

D. jint JNICALL addfJNIEnv *env, jobject o. jint a. jint b) 

Correct Answer: B 
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